	____ 1.	Human erythrocytes contain the mineral 


	A)	calcium.    B)  copper.    C)  iron.    D)  potassium.    E)  zinc. 








	____ 2.	Each of the following is an macronutrient except 


	A)	carbohydrates.    B)  ions.    C)  lipids.    D)  proteins.    E)  water. 








	____ 3.	Hydrolysis is the chemical ________ of molecules. 


	A)	deficiency    B)  digestion    C)  oxidation    D)  reduction    E)  synthesis 








	____ 4.	In the human digestive system, starch is broken down into 


	A)	amino acids. 	D)	glycerol. 


	B)	fatty acids. 	E)	nucleotides. 


	C)	glucose. 








	____ 5.	Select the incorrect association. 


	A)	cellulose/polysaccharide 	D)	starch/polysaccharide 


	B)	glucose/monosaccharide 	E)	sucrose/disaccharide 


	C)	glycogen/monosaccharide 








	____ 6.	The hormone glucagon signals the 


	A)	breakdown of glycogen into glucose. 


	B)	breakdown of proteins into amino acids. 


	C)	hydrolysis of water. 


	D)	synthesis of glycogen from glucose. 


	E)	synthesis of proteins from amino acids. 








	____ 7.	Each of the following molecules consists of bonded glucose molecules except 


	A)	cellulose.    B)  glycerol.    C)  glycogen.    D)  starch.    E)  sucrose. 








	____ 8.	Dietary fiber is a nondigestible 


	A)	fat. 	D)	polysaccharide. 


	B)	monosaccharide. 	E)	protein. 


	C)	nucleic acid. 








	____ 9.	Molecules of ________ include the triglycerides. 


	A)	carbohydrates    B)  lipids    C)  proteins    D)  vitamin A    E)  vitamin C 








	____ 10.	Saturated fatty acids increase cholesterol production by the 


	A)	brain.    B)  heart.    C)  kidney.    D)  liver.    E)  pancreas. 








	____ 11.	Saturated fatty acids contain more covalently bonded ________ atoms. 


	A)	carbon    B)  hydrogen    C)  nitrogen    D)  oxygen    E)  sulfur 








	____ 12.	Cholesterol is a(n) 


	A)	amino acid. 	D)	polysaccharide. 


	B)	fatty acid. 	E)	steroid. 


	C)	monosaccharide. 








	____ 13.	Select the correct association. 


	A)	lipid/monosaccharide 	D)	polysaccharide/fatty acid 


	B)	nucleic acid/amino acid 	E)	protein/amino acid 


	C)	polysaccharide/amino acid 








	____ 14.	The human body contains about ________ different amino acids. 


	A)	4    B)  6    C)  10    D)  12    E)  20 








	____ 15.	Which one of the following contains incomplete proteins? 


	A)	cheese    B)  eggs    C)  legumes    D)  meat    E)  milk 








	____ 16.	Which vitamin increases the absorption of iron in the small intestine? 


	A)	A    B)  B    C)  C    D)  D    E)  E 








	____ 17.	The fat-soluble vitamins are 


	A)	A, B, C, D. 	D)	B, C, E, K. 


	B)	A, B, C, E. 	E)	B, D, E, K. 


	C)	A, D, E, K. 








	____ 18.	A deficiency of vitamin D can produce 


	A)	atherosclerosis. 	D)	rickets. 


	B)	hypertension. 	E)	sickle cell anemia. 


	C)	pernicious anemia. 








	____ 19.	Amylase in the oral cavity increases rate of chemical breakdown of 


	A)	cellulose.    B)  glucose.    C)  lipid.    D)  protein.    E)  starch. 








	____ 20.	From the oral cavity, swallowed food enters the _______ next. 


	A)	epiglottis    B)  esophagus    C)  pharynx    D)  stomach    E)  trachea 








	____ 21.	The action of the gastroesophageal sphincter 


	A)	absorbs food across the wall of the esophagus. 


	B)	makes transport molecules. 


	C)	prevents food from moving into the esophagus. 


	D)	secretes enzymes. 


	E)	stores food in the esophagus. 








	____ 22.	Chyme is produced in the 


	A)	esophagus. 	D)	small intestine. 


	B)	large intestine. 	E)	stomach. 


	C)	oral cavity. 








	____ 23.	Pepsinogen is converted to pepsin by the presence of 


	A)	ATP.    B)  HCl.    C)  high temperatures.    D)  NaOH.    E)  water. 








	____ 24.	Pepsin is an enzyme that works on 


	A)	carbohydrates.    B)  lipids.    C)  proteins.    D)  steroids.    E)  water. 








	____ 25.	Mucus coats the ________ lining of the stomach. 


	A)	connective tissue 	D)	smooth muscle 


	B)	epithelial 	E)	vascular 


	C)	skeletal muscle 








	____ 26.	The main site of absorption is the 


	A)	esophagus. 	D)	small intestine. 


	B)	large intestine. 	E)	stomach. 


	C)	oral cavity. 








	____ 27.	Lacteals function for the absorption of 


	A)	amino acids.    B)  fats.    C)  minerals.    D)  vitamins.    E)  water. 








	____ 28.	The pancreas is near the __1__ of the __2__. 


	A)	1 - duodenum, 2 - small intestine 	D)	1 - jejunum, 2 - stomach 


	B)	1 - duodenum, 2 - stomach 	E)	1 - ileum, 2 - stomach 


	C)	1 - jejunum, 2 - small intestine 








	____ 29.	The function of sodium bicarbonate in the small intestine is to 


	A)	enzymatically digest molecules. 	D)	stimulate absorption. 


	B)	neutralize chyme. 	E)	transport molecules. 


	C)	promote elimination. 








	____ 30.	The function of bile is to 


	A)	block absorption. 


	B)	emulsify fats. 


	C)	increase protein digestion. 


	D)	increase starch digestion. 


	E)	stimulate the secretion of hormones. 








	____ 31.	Microvilli in the small intestine 


	A)	block the passage of food. 


	B)	increase the surface area of the intestinal lining. 


	C)	lack a blood supply. 


	D)	store waste products. 


	E)	transport amino acids into the digestive tract. 








	____ 32.	The large intestine is about ________ feet in length. 


	A)	2    B)  5    C)  10    D)  15    E)  20 








	____ 33.	E. coli is a ________ that normally lives in the large intestine. 


	A)	bacterium    B)  fungus    C)  protozoan    D)  virus    E)  white blood cell 








	____ 34.	The arrival of chyme in the small intestine stimulates the release of the hormone 


	A)	ACTH.    B)  gastrin.    C)  glucagon.    D)  secretin.    E)  TSH. 








	____ 35.	The hormone CCK 


	A)	blocks the entrance of chyme into the small intestine. 


	B)	increases metabolism. 


	C)	inhibits peristalsis. 


	D)	lowers blood sugar. 


	E)	stimulates the gallbladder to contract. 








	____ 36.	Iron is a major component of hemoglobin. 


	A)	True   B)  False








	____ 37.	Glucose is a triglyceride. 


	A)	True   B)  False








	____ 38.	The monosaccharides are the simple sugars. 


	A)	True   B)  False








	____ 39.	Enzymes are mainly carbohydrate molecules. 


	A)	True   B)  False








	____ 40.	Dietary fiber is found in fruit, vegetables, and grains. 


	A)	True   B)  False








	____ 41.	The human body cannot digest cellulose. 


	A)	True   B)  False








	____ 42.	A fatty acid contains a carboxyl group as part of its structure. 


	A)	True   B)  False








	____ 43.	The consumption of polyunsaturated fats increases the chance of developing atherosclerosis. 


	A)	True   B)  False








	____ 44.	Vegetable oil is converted to margarine by adding hydrogens to it. 


	A)	True   B)  False








	____ 45.	Cholesterol is used to synthesize the sex hormone estrogen. 


	A)	True   B)  False








	____ 46.	Most vegetables contain complete proteins. 


	A)	True   B)  False








	____ 47.	High cholesterol in the blood tends to develop at higher frequencies in certain families. 


	A)	True   B)  False








	____ 48.	Vitamin C increases the utilization of copper by cells. 


	A)	True   B)  False








	____ 49.	Vitamin C is water soluble. 


	A)	True   B)  False








	____ 50.	Vitamin K deficiency can result in severe bleeding in the body. 


	A)	True   B)  False








	____ 51.	Calcium is a major mineral. 


	A)	True   B)  False








	____ 52.	Zinc is a major mineral. 


	A)	True   B)  False








	____ 53.	Fluoride tends to harden the enamel of the teeth. 


	A)	True   B)  False








	____ 54.	Peristalsis is a voluntary muscular action. 


	A)	True   B)  False








	____ 55.	The diaphragm separates the thoracic and abdominal cavities. 


	A)	True   B)  False








	____ 56.	The stomach is the main site of enzymatic digestion in the body. 


	A)	True   B)  False








	____ 57.	The duodenum, jejunum, and ileum are regions of the small intestine. 


	A)	True   B)  False








	____ 58.	In the small intestine, trypsin is converted to trypsinogen. 


	A)	True   B)  False








	____ 59.	Chylomicrons exit from the epithelial cells of the small intestine by exocytosis. 


	A)	True   B)  False








	____ 60.	During the defecation reflex, the internal anal sphincter continually contracts. 


	A)	True   B)  False








	61.	At rest, the human body depends on mostly glucose and ________ to supply basic body needs. 








	62.	Sucrose consists of the bonded monosaccharides _________ and ________. 








	63.	Glucagon stimulates the breakdown of ________ in the liver. 








	64.	The ________ is the starch part of the wheat grain. 








	65.	Cholesterol is a precursor to synthesize vitamin ________. 








	66.	The ________ amino acids cannot be synthesized by the human body. 








	67.	Sodium is a(n) ________ and not a vitamin. 








	68.	Copper is a(n) ________ mineral, as it is required in very small amounts. 








	69.	The ________ is the hard, outer covering of a tooth. 








	70.	Absorbed fats are transported into the lacteals of the ________ system. 








	71.	Glucose is released from the __________ into the bloodstream. 








	72.	Constipation develops from the increased absorption of ________ in the large intestine. 








	73.	Discuss some important functions of lipids in the body. 








	74.	What is the function of the hormone secretin? 








	75.	Provide a useful function for each of the following:


		A. gastroesophageal sphincter


		B. hydrochloric acid (in the stomach)


		C. bile


		D. CCK 








	76.	Briefly describe how water-soluble fiber might decrease blood cholesterol levels. 








	77.	Where is the chemical digestion of carbohydrates, proteins, and lipids completed? 








	78.	What is the process of absorption? 








	79.	Match each term on the left to an appropriate association on the right.


		


			___ trypsin	A. increases surface area in the small intestine


			___ iron	B. involved in the structure of protein in the 


				electron transport system


			___ microvilli	C. emulsifies fats


			___ cholecystokinin	D. involved in blood clotting


			___ amylase	E. breaks down proteins


			___ vitamin K	F. causes gall bladder contraction


			___ bile	G. breaks down starch 








	80.	Match each term on the left to an appropriate association on the right.


		


			_____ large intestine	A. HCl is secreted here


		


			_____ oral cavity	B. starch digestion begins here


		


			_____ small intestine	C. fat emulsification begins here


		


			_____ stomach	D. ascending and descending regions 











�
Answer Key -- Chapter 5





	1.	C	





	2.	B	





	3.	B	





	4.	C	





	5.	C	





	6.	A	





	7.	B	





	8.	D	





	9.	B	





	10.	D	





	11.	B	





	12.	E	





	13.	E	





	14.	E	





	15.	C	





	16.	C	





	17.	C	





	18.	D	





	19.	E	





	20.	C	





	21.	C	





	22.	E	





	23.	B	





	24.	C	





	25.	B	





	26.	D	





	27.	B	





	28.	A	





	29.	B	





	30.	B	





	31.	B	





	32.	B	





	33.	A	





	34.	D	





	35.	E	





	36.	A	





	37.	B	





	38.	A	





	39.	B	





	40.	A	





	41.	A	





	42.	A	





	43.	B	





	44.	A	





	45.	A	





	46.	B	





	47.	A	





	48.	B	





	49.	A	





	50.	A	





	51.	A	





	52.	B	





	53.	A	





	54.	B	





	55.	A	





	56.	B	





	57.	A	





	58.	B	





	59.	A	





	60.	B	





	61.	triglycerides or fats 





	62.	glucose and fructose 





	63.	glycogen 





	64.	endosperm 





	65.	D 





	66.	essential 





	67.	mineral 





	68.	trace 





	69.	enamel 





	70.	lymphatic 





	71.	liver 





	72.	water 





	73.	They provide about half of the body's energy at rest.  A fat layer under the skin insulates against heat loss.  Lipids provide padding of internal organs against mechanical damage.  Lipids are the precursor molecules for certain hormones. 





	74.	Chyme entering the small intestine stimulates the release of secretin, which in turn stimulates pancreatic cells to release sodium bicarbonate. 





	75.	A. It allows food to enter the stomach and prevents food and acid from backing up into the esophagus. B. It activates pepsinogen and kills bacteria. C. It emulsifies fats. D. It stimulates the gallbladder to release bile. 





	76.	Some water-soluble fiber acts as a sponge to absorb cholesterol in the digestive tract, making cholesterol absorption into the blood more difficult. 





	77.	The chemical digestion of all molecules is completed in the small intestine. 





	78.	By absorption, small molecules, most produced by chemical digestion, pass across the epithelial wall of the small intestine and into the bloodstream.





	79.	E, B, A, F, G, D, C 





	80.	D, B, C, A 
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